Liquid Nitrogen/Dry Ice
Why

Liquid Nitrogen boils at 77 K (That’s -321 oF), Dry ice goes directly from solid to a gas (sublimation) at a temperature of -78.5 °C.
What to do

· Watch various things shatter when frozen. 
· Magnets can levitate above superconductors.  Ask a Physics II student to explain this to you. 

· Liquid Oxygen will condense at 77 K – so that is what will drip off into the beaker.
· The aquarium will fill with CO2.  It is more dense than air, so bubbles can float on the boundary

What not to do
Liquid nitrogen can freeze your skin if you touch it for more than a couple seconds.  Be careful that it does not soak into your clothing.
